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01:00 PM to 03:00 PM
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18 JAN 2023
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25 JAN 2023
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07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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Profit and loss nhiaarhah
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Ek din profit and loss ke questions hee kya dy
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3.3% loss
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@mohit..9476 1 day aqgo

Thank-you Sir for this Last Very Amazing Class Session of this Year. ., =
And

My Answer for today's Homewark is-

Option D ==loss of 3.3%...

Read more
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SSC CHSL 2022-23
If A is one third of B, B is twice of C, D is two-third of A and the average of A,
B, C and D is 74, then the difference between A and C is:
afg A, B &1 U TdET5 §, B, C ST ST, D, A &1 31-fdeTE § 3R A, B, C R D
T 3NTT 74 B, a6 A 3R C & o= &7 3iax foramT 22

a) 32
b) 26

( g} Y c) 28
Yot M
\ P d) 24




SSC CHSL 2022-23

When a number is divided by 3, 4, 6, 15 and 20, the remainder in each case is

1. Also, the number is the greatest 3-digit number. The sum of the digits of the

number is:

A Tere HEAT T 3, 4, 6, 15 3R 20 T 9T fovar Smar 2, 9 ek Rufa o
YT 1 ITH SiaT 21 TT &Y, I8 TEAT 3 3Rl Al T AT WEAT gl TEAT & 3eht
?:I-Trtﬁ'lT%:

a) 10
b) 15

( N d) 16
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SSC CHSL 2022-23

If the article is sold at 18% discount, what profit percent is made on the
transaction?

Teh ST&d T ShT 9ol 1,545 T 8, ST 3ifohd Hed | 25% W g Alq &l 18%
W I ST 6T &, A oi-37 W fehaar emer srferrer st 2rer 22

a) 9.67
b) 13.33
9.33
13.67
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SSC CHSL 2022-23

Nine umbrellas are bought for Rs. 800 and sold at 7 for Rs. 800. What is the

gain percentage (correct to 2 decimal places)?

1 BTd 800 TUA H WIS ATd 2 A 7 BTd 800 TUA H o=l |1 21 T Tfervrer (2
TITHAS TATAT ek T2 1) TehaT 22

a) 28.57
b) 28

( =\ N c) 20
oty o
\ P d) 26.5




SSC CHSL 2022-23

Pratap paid 20% of this salary as income tax. if he is left with Rs 8,400 after

paying the tax, find his salary.
AT 3 3 AA T 20% ATAHT o &Y H ST fehaml AT T TR o 18 Ih
UTH 8,400 A F<Id 3, AT SHhT Ad- AT kIS0

a) Rs. 11,500
b) Rs. 11,000

\j ¢) Rs. 10,500

Rs. 10,000
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SSC CHSL 2022-23

the average of the first five numbers?
TRIET ShU | ATd foraw deament &t Siad 79 Bl Uge! Uie G&arsit &t fd
feRaaT 22
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The average of seven odd numbers, taken in increasing order, is 79. What is

78
77
75
76




SSC CHSL 2022-23

For an item, a manufacturer gains 12%, a wholesaler gains 10%, and a
retailer gains 15%. Find the cost price of the item for the manufacturer, if its
retail price is Rs. 56,672.

T ] % fo1u, Teh Fmiar Y 12% 1 ST e 2, Teh 9ieh SATaTt By 10%
SITH BIAT 8, AR Teh HEeht (Ishdl Sl 15% T AT FiaT 2| THHTar & o710 %
SHT Ao d AT <hl NTT, AfS IHHT Heal Hed 56,672 U 2

a) Rs. 35,000
b) Rs. 28,000

} \> c) Rs. 32,000
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SSC CHSL 2022-23

The 8% interest earned on a sum of money of Rs. 1,40,000 is to be used for
awarding 20 scholarships of equal value every year in a school. What is the

value (in Rs.) of each scholarship?

1,40,000 T <Y TEPT T TR 8% SATST T IUART Teh Thet H Tcdleh T THT
Hed i 20 BIHATTET 3 o 1T ToRaT ST §1 Teeh ST T Hed (59 H) T
T?

a) 660
b) 560

(] 0 700
\ d) 600




SSC CHSL 2022-23

The ratio of the market price of wheat and rice is 3 ¢ 8 and the ratio of their
quantities consumed in a family is 4 ¢ 9. What is the ratio of expenditure on

wheat and rice?
g 3R ATT o ATSTR Hed ThHT AT 3 ¢ 8 T 3R Yok URAR | T <hl 718 AT
T FATUTA 4 ¢ 9 7| TE AR ST U ST T AT AT 32
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SSC CHSL 2022-23

The cost of one chair is Rs. 450. Ravi buys 10 chairs for Rs. 3,825. The

discount per cent he gets in buying the 10 chairs is:

Teh U1 ehl ShITd 450 TOI 2| AT 10 HRAT 6T 3,825 T4 H TRIGAT 81 10 FHidat
I TG W 39 et areft D aiavm @:

a) 12%
b) 10%

(t A\ 0) 8%
(=gl
A= d) 15%




SSC CHSL 2022-23

length (in cm) of the longer side.
qfS Tk ST, TTEhT SAE 154 FHY? §, Rt 1l | 3 Gt 1 Fa¥ 7, a1 ofelt
ST Y TaTg (WHT 7) JTa Hifu)

a) 15
b) 12.5

(\\' 20 ) 14
Yoty o
\ d) 14.5




SSC CHSL 2022-23
A bag contains coins of denominations Rs. 1, Rs. 2 and Rs. 5 only in the ratio
of 12 ¢ 5 ¢ 3. If the total amount in the bag is Rs. 3,626, then what is the

number of coins of Rs. 5 in the bag?
THHTH 12251 3% ATUTA A 15U, 2 FU 3R 5 T Toaart o foreren 21 afy
ST H ST ST 3,626 U B, AT ST H 5 TUA o {Arent sht T&AT T 82

a) 285
b) 297

( 7 {30} \j c) 291
\ d) 294




SSC CHSL 2022-23

Madhu and Shiney can complete a piece of work in 20 days, Shiney and Rosy
can complete it in 12 days and Rosy and Madhu can complete it in 15 days. In

how many days will they complete it together?

W ST IITSHT Uk T ohl 20 TaAT H U Y Wehel | &, ST AR AT 39 12 femr &
T Y TShAT & ST U ST W 3 15 71 W g1 St Wehell §1 F 36 Ueh A1
Ry forit 3 o ety

a) 4 days
b) 10 days

( } \> c) 8 days
NP d) 12 days




SSC CHSL 2022-23

1
If (x + " )’= 27 then find the value of (T U &1 %‘?)

X2 +—==9

a) 7
b) 25
c) 11
d 9



SSC CHSL 2022-23

many notebooks can be bought for Rs. 75?
125 T SifeRd Hed TTeAt Toh oI AEdeh 20% hl B W ITTed 5l 75 TUA |
fera=T Tredeh TG ST Aehdl 32

a) 10
b) 6

( 7 /Any ) c) &
aloituy 0
\ .\\\\\w ‘”‘//,//L d) 9




SSC CHSL 2022-23

Ais 150% of B and B is 40% of C. If A + B + C = 20, then the value of ZB +
3C - 4A is equal to:

A, BEHT150% 23R B, CHT40% BN AR A+ B+ C =208, 2B + 3C - 4A &7
‘FI'FT%:

a) 15
b) 20

(\. 2 j c) 16
Loty L
\ ¥ d) 14



SSC CHSL 2022-23

One-fifth of a journey is covered at a speed of 30 km/h, one-fourth of the
journey at a speed of 25 km/h and the rest at 60 km/h. What is the average

speed (in km/h, correct to one decimal place) for the whole journey?

Uk ITAT T 1/5 WTT 30 TRHI/EET shi T |, ATAT ShT Teh-<ITATS WIT 25 TeRH1/EeT
<h1 T | ST 9 | 60 Terwfi/eier st Tiia & o= forar Strat 21 daut am=m
e et (FoRH/EeT W, SIS o ATE Ueh 37eh ek YUTITehd) T 82

a) 30.6
b) 40.5

( {7an) \> c) 25.4
\ d) 38.7
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